ARO01.30-P-5800-01HA Tightening diagram of cylinder head bolts

|Engine 604, 605, 606

Tightening diagram/bolt allocation
Engine 604/605

A Collar bolt M10 x115
B Collar bolt M10 x102
a Bolts+washers M8 x50

(to timing case cover) ‘
b Bolts+washers M8x80 (fuel filter)

ol
)\
Q|

(e

@@@f@@;

@

® 9

® @

® @& |

P01.30-0215-06

Tightening diagram/bolt allocation
Engine 606

A Collar bolt M10 x115 i
B Collar bolt M10 x102
a Boltstwashers M8 x50 [ ——

(to timing case cover) @
b Bolts+washers M8x80 (fuel filter) @®

© Daimler AG, 21.03.18, G/02/15, ar01.30-p-5800-01ha, Tightening diagram of cylinder head bolts
ENGINE 604, 605, 606 /

P01.30-0204-05

CrtpaHuua 1 u3 1



